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The absence of the teeth from the arch may be due to the
non-eruption of fully calcified teeth; to non-evolution of the
tooth germ: to the failure of the calcification processes in the
dental follicle; to injury to the developing tooth germ from
traumatism or infectious processes: to the accidental removal
of the permanent tooth germ by the extraction of the
deciduous tooth; to the transformation of the tooth germ into
an odontoma.




Whenever a calcified tooth does not erupt, it is a case of
Incarceration or impaction according to whether the path
leading to normal position in the arch is free or obstructed.

This abnormality affects

==the third molars, upper and lower,
==the upper second bicuspids,
==the upper laterals and upper

==and lower cuspids with greater frequency than other
teeth.

Incarceration of a permanent tooth is sometimes associated with
the retention of the corresponding deciduous tooth until later
in life than normal, and occasionally even throughout the life
of the individual.



The influence of heredity in these abnormalities of number 1s
well shown 1n the case of the upper laterals, this tooth being
sometimes absent through several generations, in one or
several members of the same family.

The absence of the complete dentition, both deciduous and
permanent and of the permanent alone, 1s an extremely rare
occurrence, nevertheless cases of this kind are on record in
dental literature.




The absence of the permanent upper right lateral incisor 1s a
rather frequent abnormality.

The absence of a lower incisor is a rare abnormality.

A lower bicuspid may be absent and when it fails to erupt it is
the second more frequently than the first.

The permanent first molar may be absent owing to the failure
of the fully calcified tooth to erupt, its presence 1n the
substance of the jaw being made evident with the aid of
radiography.

The absence of the permanent cuspids 1s rarely the result of
the non-development of the tooth, but in most instances 1s due
to the failure of the fully formed tooth to erupt.






The absence of deciduous teeth is occasionally observed.

The absence of teeth from the arch should be diagnosed
invariably with the aid of carefully secured radiograms.
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Unquestionably, many cases of absence of teeth are cases of
non-eruption or incarceration of fully calcified teeth, which
remained within the substance of the jaws; in some cases this
incarceration does not cause any apparent discomfort to the
patient, while in others it produces reflex manifestations of
varying degrees of intensity.







IIpsimasi pe4yb — 3TO pP€Yb KaKOro-HUOY/b JIUIIA,
nepeaaBaeMas 0€3 M3MEHEHHUM, HEITOCPEJACTBEHHO TaK, KaK
oHa ObL1a mpon3HeceHa.Ha nuceme npsamast pedb
3aKJII0YACTCS B KABBIYKH, KOTOPHIEC B AHITIMMCKOM SI3BIKE
CTaBATCA BBEPXY CTPOKHU. I1epBoe Ci10BO NpsAMON peun
HAYWHACTCS C MPONUCHOM (0O0IbIION) OYKBHI.

IIpsiMas peyb MOXKET NPEACTABASATL COOOM:

IIOBECCTBOBATCIBHOC |,
BOIIPOCHUTEIILHOE ,

ITIOBCJIINTC/IbHOC IIPCIJIOZKCHUAI.



KocBeHHas peub IepeaacT CI0Ba TOBOPSIIETO HE CI0BO B CIOBO, a
JIMIIB MO COAEP>KaHWIO, B BUJIC JOMOJTHUTEILHOTO OPHUAATOYHOTO
PEAI0KCHUS.

B KOCBEHHOM pe4r TaKk)e€ COOIIOAACTCS MPABUIIO CONIACOBAHUS
BpeMeH. [Ipu nepeBoae yTBEpAUTENBHBIX HPEATI0KEHUN U3
MPSIMOU PEYU B KOCBEHHYIO IIPOU3BOAATCS CICIAYIOIINE
U3MEHECHUS:

1) kocBeHHAasi peuyb BBOAUTCS COI030M » KOTOPBIA 4aCTO
OIYCKAETCS;
2) riaroJ , IIOCJIe KOTOPOIO CJIeAyeT A0MOJTHEHHE,

3aMeHsieTcsd riiaroJjiom to tell;

3) JMYHbIC U MPUTHKATEIbHbIE MECTOMMEHUS 3aMEHSAIOTCA 110
CMBICJIY;

4) BpeMeHa 1J1aroJioB B IPUJIATOYHOM NPEAJI0KEeHUH
U3MEHSIIOTCS COTJIACHO MPAaBUJIAM COIVIACOBAHMS BPEMEH;



IIpu oOpameHuy NPAMON peyd B KOCBEHHYIO
MPOU3BOAATCH CJIEAYIOIIUE U3MECHEHMA:

1.3amsTas, crosas mocue CjaoB, BBOAAIINX MPIMYIO PEUb, a
TAKK€ KaBBIYKH, B KOTOPBIC 3aKJIFOYCHA MpsIMasi PEUb,
onyckaroTcsa. KocBeHHas peub BBOAUTCS COIO30M qTO,
KOTOPBIA, OAHAKO, YaCTO OITYCKaETCH.

Ecnu B clioBax, BBOAAIIUX IIPSIMYIO peub, YHOTPEOJIEH IJ1aro
0€3 JOIMOJHEHHMS, YKa3bIBaIOIIEro Ha JIUII0, K
KOTOPOMY O0OpaIllatoTCs C PEYbI0, TO COXPAHSETCS.
Ecnm e nociie to say uMeeTcs IoNoJIHeHHE (00513aTeNIbHO C
npeaiiorom to, Hanpumep — said to me), To 3aMEHSICTCS
I71arojoM (majee JOIMOJIHEHUE Oe3 mpejjiora (o):

He says, "Mary will do 1t." - On ropopur: «Mapus caenaer
ITOM.

He says (that) Mary will do it. - OH roBoput, uto Mapus
CIEJacT 3TO.



2. JInyHbIE U NIPUTSIKATEIBHBIE MECTOMMEHMS MPSAMOU PEUH
3aMEHSIOTCS 110 CMBICITY, KaK U B PYCCKOM SI3BIKE:

. He says, "I have your book." — OH roBoput: «Y MEHS €CTh
TBOSI KHUTa.

. He says that he has my book. — OH roBopur, 4TO y HETO €CTh
MOSI KHUTA.



3 Ecnu rmaron, BBOASIINI KOCBEHHYIO pedb (IIIaBHOE
IPEIJIOKEHUE), YITIOTPEOJIIECH B HACTOAIIEM MK OyAyIEeM
BpeMeHH — Present Indefinite, Present Perfect, Future
Indefinite, To m1aroyn B KOCBEHHOM peu (IIPpUIATOUYHOE
IPEAI0KEHNE) OCTACTCS B TOM K€ BPEMEHH, B KAKOM OH OBbLI
B IIPSIMOU PEYH :

. He says (has said, will say), "I sent them the catalogue on
Monday." - OH roBopuT (CKa3all, CKaXeT): «5 mocnai um
KaTajor B MIOHEACIbHUK).

. He says (has said, will say) that he sent them the catalogue on
Monday. - OH roBopuT (CKa3all, CKaXe€T), YTO OH I1OCJIa]l UM
KaTaJIOT B HOHEACIbHHUK.



4. Yka3zarenbHbIE MECTOMMEHUSA U HAPEUYNS BDEMEHH U MECTA B
IPSIMOM PEYH 3aMEHSIOTCS B KOCBEHHOM PEUYH I10 CMBICITY
IPYTUMU CJIOBAMU:

. (3TOT) 3aMEHSIETCS (TOT, 3TOT)

A (aTH)  -»- (TE, 5TH)

‘ (Teneps) -»- (Torma)

/ (3aBTpa) -»- (Ha CIEAYIOIIUN JCHB)
; (ceromgHs) -»- (B TOT JICHD )

g (TOMy Hazang)-»- (paHbI1IC)

: (31€Ch) -»- (Tam)

- (Buepa) -»- (HaKaHyHE)
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Mpsamar pevun Kocasernran pedsn 4
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can could 4
He sasd, i can go to school.” He said (that) he could go to school. fad.

could could
He said, "I could go 0 school™ He said (that) he could go 1o school.

will would
He sasd, "1 will go o school.™ He said (that) he would go 1o school.

may might
He sasxd, "Il may go w© school.” He said (that) he might go 1o school.

might might
He said, "I might go 0 school.™ He said (that) he might go to school.

must had to
He said, "I must go 10 school™ He said (that) he had to go 10 school.

have to had to
He said, 1 have to go to school.™ He said (that) he had to go 1o school.

shall should
He saxd, I shall go 1o school™ He said (that) he shouild go © school.™

should should
He sasd, "I should go 1© school.™ He said (that) he should go 0 school.™

ought to ocought to
He said, "l ought to go o school.™ HMHe said (that) he ought to go 10 school™
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Present simple: Past simple: '
I'm & nurse |, she said She said she was a nurse
Present continuous: Past continuous:

I'm not going , he said He said he wasn't going

Past simple: Past Perlect:

Tony did it , she sald She sald Tony had done it
Present perfect: Past perfect:

| haven't read it , she said She said she hadn't read it
Past continuous: Past perfect continuous:

| was lying , he said He said he had been lying
Will: Would:

I will get it , she said She said she would get it
Can: Could:

| can speak french , he said He said he could speak french
May- Might

| may be late | she said She said she might be late
Must had to:

| must go , he said he said he had to go







